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Total no. of printed pages : 4 1102/19

Half-yearly Examination, 2019
Class : 111
Subject : English
Time : 3 hours Total marks : 100

(The figures in the margin indicate full marks for the questions.)

1. Fill in the blanks. 72x10=5
Al |C|D G I LM
OlP|Q TIU VWX Z
2. Fill in the blanks. 2x10=35
bleld| |F1914] (7|44
olp] |xl|s| |w| |w 7
3. Write the names of seven shapes.
1 X7=T7
4. Write the following figures in words.
1x5=5

o, 11, 18, 9, 1

(1) PTO.



5. Write the following numbers in figures.

0.

10.

1 x5=5

Three, Two, Thirteen, Twenty, Seven

Write the names of five fruits.
1 x5=5

Write the names of seven colours.
1 x7=T7

Write the names of eight vegetables.
1 x8=8

Write the names of eight birds.
1 x8=8

Rearrange the letters to make
meaningful words. (in cursive letters)

1x5=5
a) lldo b) hsfi
C) esro d) lyko
¢) abzre

(2) Contd.



11.

12.

13.
14.

Fill in the blanks of the following
words. (in cursive letters) 42x10=5

a) G—a— b) L—o—
¢c) R—n— d) W—t—nh
e) T—g—r

Handwriting. (Write five times in
cursive letters) 10

Honey tastes sweet.

Spelling. (already completed) 10

Rhymes and Reading.
(already completed) (5+10)=15

* % %

)



Total no. of printed pages : 01 1102/19

Half-yearly Examination, 2019
Class : 111
Subject : Reading (English)
Total marks : 15

(The figures in the margin indicate full marks for the questions.)

1. Sing any one of the rhymes from the
following. 5

a) Teapot
b) Two Little Hands
¢) Teddy Bear

2. Spell & Read the words. 5+5=10
a) Woodpecker
b) Purple
¢) Round
d) Pumpkin

e) Eleven
* Kk



Total no. of printed pages : 1 1102/19

Half-yearly Examination, 2019
Class : 111
Subject : English (Spelling)

Total marks : 10

Rose
Jackfruit
Pumpkin
Curve
Yellow
Dove
Cone
Ten

A T A A o e

Crow
Lotus

[
<

* % %
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Total no. of printed pages : 7 1102/19
Half-yearly Examination, 2019
Class : IV
Subject : English
Time : 3 hours Total marks : 100
(The figures in the margin indicate full marks for the questions.)

1. Answer the following questions in complete
sentences. 1 x4=4

a) Who cleans the farm himself ?
b) What 1s the name of the river ?

c) Is there a tree in front of Barun’s
house ?

d) How many cows are there in the farm ?
2. Write the opposite gender of the following.

2% 12=6
(Example : Boy — girl)

Uncle, Sir, Cock, Bull, Actor, Man,
Son, Prince, Brother, Grandfather,
God, Father

(1) PTO.



3. Choose the correct option and rewrite the

following sentences. 1 x5=5
a) Isthisyourbag ?
Is this bag ? (you / yours)
b) This 1s her doll.
That doll 1s also . (hers / her)
c) Those are their cats.
The dogs are too. (their / theirs)
d) This s his pencil.
This pencil 1s . (him / his)
¢) Thatis my pen.
That pen s . (my / mine)
4. Match the cries of the following animals.
(Example : Goat — Bleat) 1x5=5
Mouse Roar
Crow Hoot
Lion Squeak
Cat Caw
Owl Mew

(2) COI?td.



5. Fill in the blanks using plural numbers. 1x6=6
(Example : Girl — Girls)

Hill I
Monkey —
Thief o
Woman R
Foot —
Book —
6. Match the animals and their young ones.
2x10=5
Sheep Piglet
Whale Foal
Pig Calf
Dog Fawn
Bear Cub
Horse Puppy
Cow Elephant-calf
Cat Lamb
Elephant Kitten
Deer Calf

(3) PTO.



7. Write the past tense form of the following
verbs. 1x5=5
play ; come ; read; go; give

8. Find out four nouns, four pronouns and four
adjectives from the following. 4x3=12

Rita is a good girl. She 1s very beautiful.
She lives in a big house with her parents. Her
mother has long hair. She 1s a tall woman. Her
brother is a fat boy. He has a pet dog. He loves
his pet dog very much. He is a strong boy.

9. Complete the following sentences using the
words given in the box. 1 x4=4

themselves ; myself; herself; itself

a) The girl 1s cooking food :

b) Iam doing my homework

c) The elephant is taking bath :

d) They are decorating their home :

(4) Contd.



10. Rewrite the following sentences in correct
order. One is done for you. 1x5=5

Anup beautiful a lives house in

Ans. Anup lives in a beautiful house.
a) Biju football plays

b) toschool they go

c) colditadayis

d) smellsthe good food

¢) doctoraishe

11. Fill in the blanks with appropriate adjectives
from the box. 1 x4=4

tall ; bright; colourful ; nice

a) Ihave a sister who 1s :

b) The garden is full of
c) Look at those

flowers.

stars.

as a teacher.

d) Mr. Dutta is very

(5) PTO.



12. Read the following sentences and put capital
letters, comma, full stop, question mark
wherever required. One 1s done for you.

1x4=4
1love my mother

Ans. I love my mother.

a) where 1s your school

b) dispur is the capital of assam

c) we loveto play football tennis and chess

d) elephant is a big strong and beautiful
animal

13. Make five sentences from the following table.

1x5=5
Paahi tastes nice.
The food smells good.
The flower | looks happy.
My mother tired.

(6) Contd.



14. Translate the following sentences into
English. 1 x5=5

(1) «BER @R |
(i) 92T qule] @2 %]
(iii)  @RoRRRT = I
(iv) (2N o )|

(v) 2 (o¢s il |

15. Handwriting. (Write five times in cursive
letters)

The Brahmaputra is a big river. 5

16. Spelling and dictation. (already completed)
10
17. Reading. (Continuous Evaluation) 10

* % %

(7)



Total no. of printed pages : 1 1102/19

Half-yearly Examination, 2019
Class : IV
Subject : Spelling and dictation (English)

Total marks : 10
1. Spelling. /2% 12=6
village ; sister ; river ; father ;
teacher ; book ; farm ; potatos ;
garden ; happy ; bright ; sky
2. Dictation. 4

1) This is a boy.

1) She 1s a student.
i) The leaves are green.

1v) Her name 1s Lata.
Kk
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15. Fill in the blanks with the help of the words given

in the box. 10
long big mango tree
leaves roots branches twigs
ripe mangoes

This i1s a . Its — are narrow
and — 1n shape. It has many —. Its —
are used in ‘puja’. Its — are strong. People
love — —.

16. Spelling and dictation. (already completed) 10
17. Reading. (continuous evaluation) 10

* % Kk

(6)

Total no. of printed pages : 6 1102/19

Half-yearly Examination, 2019
Class : V
Subject : English
Time : 3 hours Total marks : 100

(The figures in the margin indicate full marks for the questions.)

1. Answer each of the following questions in
complete sentences. Ix12=12

a) What is performed at night during Holi ?
b) With whom does Arki like to enjoy Holi ?

c) Who has planned to go to Shillong during
the holidays for Holi ?

d) Who i1s Harish ?

e) What does the old man forget at home ?
f) What was the name of Rip’s dog ?

g) Who recognised Rip ?

h) What was the name of the game that the
funny looking men were playing ?

1)  Who was Dorothy ?

) What did Ozma have ?

k) Why could the hunters not sleep ?

)  With what did the turtle put the fire out ?

(1) PTO.



2. Write whether the following statements are true 13. Translate the following sentences into English.

or false. 1x8=8 1x5=5
a) The bees and snakes disturbed the hunters. 0) O 95l TG FoT ACE |
b) Rip recognised everybody in the village. i) wrg W RureEiel =iz |
¢) The man suffers from tonsillitis. i) PV e o w74 |
d) Kirtan Ghar is in Barpeta. iv) W3 el (08T 19l #A1Bfce |
e) Harish carries a gun with him. v) B «afe @fer =z
f) The man lives with his family. 14. Match the words from A with the words from B.
g) The Hawk family lived in a village. n = 7x10=5
h) Rip’s beard had grown a foot long overnight. glad take
3. Fillin the blanks with the correct simple past tense king young
form of the verbs given in brackets. 1x6=6 give ruler
a) They (visit) Gangtok last year. old happy
b) I (meet) him last week. duck car
c) The ship (sink) in the ocean yesterday. hen den
d) Rupak (make) a wooden doll last month. a lion lives in a fish
e) My grandmother (tell) me an interesting story a snake lives in a chicken
last night. fishing duckling
f) Lalita (wear) a nice frock yesterday. driving hole

2) Contd. 5) PTO.



10.

11.

12.

Fill in the blanks with the correct simple present
tense form of the verbs given in brackets. 1x2=2

a) Rekha always — (play) with her brother.

b) The sun — (rise) in the east.

Fill in the blanks to make the sentences negative.
1x2=2

a) The students are reading.
The students — reading.

b) My friends play football.
My friends — play football.

Fill in the blanks with the correct future tense form
of the verbs given in brackets. 1x2=2

a) They — (buy) a car tomorrow.

b) He — (go) to Delhi next month.

Fill in the blanks to make the sentences interrogative.
1x2=2

a) She is Neha.
—— she Neha ?
b) They drink milk.
—— they drink milk ?

4) Contd.

Write the poem ‘Thank You God’. 8

Fill in the blanks with the correct present continuous
tense form of the verbs given in brackets. 1x3=3

a) The workers are busy because they — (dig)
the well.

b) The boy — (sleep) now.

c) The child — (cry) because it is hungry.

Find out the material nouns and abstract nouns
from the following. 1x6=6

steel, anger, wool, honesty, water, happiness

Fill in the blanks with ‘has’ or ‘have’. 1x4=4
a) The child — a lovely doll.
b) They — a nice collection of short stories.

c) He — a pet dog.
d) We — a red car.

Fill in the blanks with ‘am’, ‘is’, ‘are’. 1x5=5
a) Kristi — a student.
b) [ — a girl.
c) They — dancers.
d) He — a boy.
e) We — students.
3) PTO.



Total no. of printed pages : 01 1102/19

Half-yearly Examination, 2019
Class : V
Subject : English (Spelling and dictation)

Total marks : 10

Spelling. Yix10=5

mud, wallet, fun, wand, fairy, celebrate,
efforts, mortal, gentle, dutch.

Dictation. 5

Rip Van Winkle decided to help the man. So
he and the funny looking man walked down the
stream to a cave in the mountain. There Rip Van
Winkle saw many other funny looking men and
all of them were playing the game of ninepins. As
soon as the barrel was placed on the ground, the
men took some mugs, dipped them into the
barrel and drank some liquid from the barrel.

* %k
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Dictation. 5

Rip Van Winkle decided to help the man. So
he and the funny looking man walked down the
stream to a cave in the mountain. There Rip Van
Winkle saw many other funny looking men and
all of them were playing the game of ninepins. As
soon as the barrel was placed on the ground, the
men took some mugs, dipped them into the
barrel and drank some liquid from the barrel.
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Half-yearly Examination, 2019
Class : VI
Subject : English
Time : 3 hours Total marks : 100

(The figures in the margin indicate full marks for the questions.)

1. Answer the following questions in complete sentences.
1x10=10
a) What is the name of the shipwrecked sailor ?

b) How much money does Antonio borrow from
Shylock ?

c) What language did Crusoe teach Friday ?
d) Who wrote the drama ‘The Merchant of Venice’ ?
e) When did the Crimean War break out ?
f) Where did Florence die ?
g) Where did Jeetu go with his parents last year ?
h) Who was Chanakya ?
i) Who mentioned about Sri Surya Pahar in his writings ?
j)  Whom did Chanakya assist ?
2. Give brief answers to the following questions. 2x3=6
a) How does Portia save Antonio ?
b) Write the name of the two books written by Chanakya ?

c) How did Crusoe manage to go back to England ?
1) PTO.



Write whether the following statements are true or false.
ax4=2
a) Chanakya was born in a Brahmin family.

b) There are 26 stupas of different shapes at Sri Surya
Pahar.

¢) Florence often visited the soldiers at night when they
were asleep.

d) Chanakya was not a professor at the University of
Takshashila.

Fill in the blanks with suitable words from your text. /2x4=2
a) Shylock is a— and a money lender.

b) The site of Sri Surya Pahar was perhaps associated

with the — of sun worship.
c¢) ——isarich heiress.
d) Jeetu shows Mini some — of Sri Surya Pahar.
Answer the following questions. 1x3=3

a) How many arms and knees are there in our body ?
b) What are the little silver fishes doing ?

c) What make the pleasant land ?

Write the first four lines of the poem ‘Parts of the body’. 4

Write the meaning of the following words. (any three)
1x3=3

chubby ; darting ; merrily ; eternity ; lots of

Fill in the blanks with the correct tense form of the verbs
given in brackets. 1x5=5

a) The birds — (fly) in the sky now.

2) Contd.

21.

22.
23.

Translate the following sentences into English.

) Ol FIfeT Feltar @ e |
ii) STIIRIE Foe1 (el =R |
iii) SifoojaIcae=l 739l =cz |
iv) W2 FfeAHT TSI AR |
V) O SN QRCET ©fe (ARG ?

Spelling and dictation (already completed)

Reading (Continuous evaluation)

* %k

™)

1x5=5
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20. Read the following passage carefully and answer the

questions given below it.

Kamal is in class VI of a local school. He is fond of
animals. He has a pet dog. Kamal takes great care of his dog
named Kuku. He feeds his dog regularly in the morning. It
is the duty of Kamal’s mother to bathe the dog at noon,
because at that time Kamal usually remains at school.
Kamal’s father has taught him that he should love animals.
He says that these animals make the world beautiful.

Kamal reads many good and interesting books about
animals. He always goes to school library in search of these
types of books. He has developed a kind of liking towards
various animals around him. He also likes to observe the
peculiar nature of different insects.

Questions :

1) What is Kamal fond of ? 1
i) What pet does Kamal have ? 1
i) What is the name of the dog ? 1

iv) Write whether the following statements are true or false.
Vax4=2

a) Kamalis in class V.
b) Kamal does not take care of his dog.

c¢) Kamal reads many good and interesting books about
animals.

d) Kamal does not like animals.

(©)

10.

I1.

12.

b) He always — (go) to the market.
c¢) She — (sleep) since 10 p.m.
d) Mina — (do) the work just now.

e) I1—— (read) for five hours.

Put a, an or the in the blanks. 1x4=4
a) Amal reads — Ramayana everyday.

b) The cow is — useful animal.

c) —— honest man is loved by all.

d) That is — picture.

Fill in the blanks with the correct wh-question words.

1x4=4
a) ——doyoulive?
b) —— did you see there ?
c) —— areyou late ?
d) —— took my book ?

Write the following sentences correctly by placing the
adverbs. 1x3=3

a) Rina commits mistakes. (sometimes)

b) We should be punctual. (always)

c) My brother felt tired. (very)

Fill in the blanks with ‘some’ or ‘any’. 1x4=4
a) Give me — oranges.

b) Did he buy — book ?

3) PTO.



13.

14.

15.

16.

c) I do not have — storybook.

d) Put—— salt in the curry.

Fill in the blanks with and / but / or.

a) She is fat — not strong.

b) Mr. Das — Mr. Kalita are friends.
c) Walk fast — you will miss the bus.
d) He is slow — steady.

Correct the following sentences.
a) That car is our.

b) Do you know she ?

¢) Sheis you sister.

d) This is mine book.

Fill in the blanks with the correct phrasal verbs.

put off, get up, look for

a) My mother — early in the morning.
b) The man is — his lost cow.
c) Please — your shoes outside the laboratory.

1x4=4

1x4=4

1x3=3

Write the types of the following sentences. (any two) 1x2=2

a) May you live long.
b) Ram plays cricket.
c) Do you like fruits ?
d) Shut the door.

@

Contd.

17. Construct one sentence each in the following patterns. (any

two) 1x2=2
SV, SVA, SVO, SVC

18. Match the words in column A with those in column B.

¥2x10=5

A B
battle poet
dead see
comedy geese
patriot miser
look drop
goose alive
one who spends too little war
A — of water piece
A — of cake tragedy
one who writes poetry traitor

19. In the school campus you have lost an umbrella. Write a
notice to hang it on the notice board to inform the students
about the umbrella. 5

) PTO.
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Half-yearly Examination, 2019
Class : VI
Subject : English (Spelling and Dictation)
Total marks : 2x10=5

Spelling :

island ; famous ; tragicomedy ; hospital ;
bridge ; wisdom ; children ; emperor ;

winter ; interest
Dictation : 5

Florence Nightingale’s father taught her and
her sister a variety of subjects ranging from
science and mathematics to history and
philosophy. As he grow up she developed an
interest in helping others. At the age of seventeen
she believed that she was called into service by
God to do something for helpless and miserable.
At first her parents refused to allow her to
become a nurse but at last her father gave his
permission.

* %k Kk
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Class : VII
Subject : English

Time : 3 hours Total marks : 100

(The figures in the margin indicate full marks for the questions.)

SECTION : A

1. Answer the following questions in complete sentences.

1x10=10
a) Why did Jeewan mortgage all his land ?
b) Who invented telephone and when ?
¢) Whatis e-mail ?
d) What is the playing time of our National Anthem ?
e) What is the main objective of the model prepared by
Disha, Barnali and Bidisha ?
f)  When was Albert Schweitzer awarded Nobel Peace
Prize ?
g)  When do people observe the World Environment Day ?
h)  Where did Albert study medical science ?
)  Where did the three girls gather to complete their
model ?
J)  Who was Charles Marie Widor ?
2. Give brief answers to the following. 2x5=10
a) Why are the greenhouse gases important ?

b) Write what Albert did for the natives of Lambarene.

c)

Why are national symbols important ?

(1) PTO.



10.

I1.

d) What did Rajen notice on his way home ?

e) How was Albert famous among the natives of Africa ?

Write about the model prepared by Bidisha, Disha and

Barnali. 3
What is global warming ? 3
Write true or false. Lox4=2

a) Telegraph uses telephone network.
b) George is Albert’s friend.
c) Jeewan regularly wrote to Rajen.

d) Dr. Dilip Kumar Dutta was the chief guest.
SECTION : B

What do people do in March ?

Which rule should we always keep in mind ? 2

What is man made for ? When can we live a life safely ?
1+1=2

Write the meanings of the following words. 1x2=2

divine ; glitter

Give rhyming word for each of the following. Vax4=2

sun ; fail ; fine ; mountain

SECTION : C
Change the voice of the following : 1x5=5

a) Ilove my sister.

b) Rita is writing an essay.

¢) My father called me.

d) The group has completed the activities.
e) He helped his brother.

2) Contd.

V) (OSEF IZR WMo Sfefees ez Calfee |

vi) W2 QAR (08T mRiecE (o8 (Gifow b2 =ifes |

vi) I @R _R [ fEws #iiS iz
vil)  comIEAE afew [ o =i

iX) (9€ Ao CISRIE AWCsl T |

x) o (odq aal v el

SECTION : F

20. Spelling and dictation. (already completed)

21. Reading. (continuous evaluation)

* %k Kk

®)
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15 years old. It was later published in a magazine. Tagore
had a keen interest in the folk music of Bengal. He used it
in many of his songs. Our national anthem was also
composed by him. He wrote nearly 50 books and more than
3000 poems. He was awarded the Nobel Prize for
Literature in 1913 for his book, ‘Gitanjali’.

Questions :
a) Who was Rabindranath Tagore ? 1
b) What did Tagore like ? 1
¢) What happened to Tagore in 1913 ? 1
d) Which is Tagore’s first poem and when did he write it ?
e) Write true or false : 1/2><4:§

18.

19.

i) Tagore didn’t like music.
) The first poem of Tagore is Gitanjali.
i) He got Nobel Prize for Literature.

iv) He wrote more than 3000 poems.

Write a paragraph on any one of the following topics. 8
a) Your hobby

b) A journey by bus

¢) Your favourite book

Translate the following sentences into English. ~ 1x10=10

i) ool (Are FHICT GBI SfeT [ |
i) (o = ¥ T3 @A TiZ |

iily (o€ G3AG 7T AR AT |

iv) ol «feal ez @l e 723 |

4) Contd.

12.

13.

14.

15.

16.

17.

Use the correct tense form of the verbs given in brackets.

1x5=5
a) The train always (arrive) at 9 A.M.
b) When father entered we (dance).
c) The new teacher (teach) us for 3 months.
d) We (return) home before it rained.
e) They (live) here for many years.
Use prefix or suffix to the following words. 1x4=4
control ; use ; prevent ; sad
Rewrite the following sentences using ‘so....that’.  1x3=3

a) The man is too weak to walk.
b) The news is too good to be true.
c) The box is too heavy to lift for me.

Make a sentence in the pattern of each of the following.
1x4=4

a) SVA b) SVC ¢) SVOO d) SV

Write the synonym and antonym of the following words.
1x2=2

Courage ; Wisdom

SECTION : D

Read the following passage carefully and answer the
questions below :

Rabindranath Tagore was a poet, writer, musician and
philosopher. He was born in 1861 in Kolkata. Music was an
important part of his family. He liked poetry and music very
much. He wrote his first poem ‘Banphool’ when he was just

3) PTO.
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Class : VIII
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(The figures in the margin indicate full marks for the questions.)

1. Answer the following questions in complete sentences.
1x10=10

a) What did Gandhi think his father would do after reading
the note ?

b) What is the minimum age for voting in India ?

c) What does food supply to our body ?

d) Where does Deep like to spend his vacations ?
e) Who was the goddess of health ?

f)  What is the speciality of Ima market ?

g) Why was Tom envy of every boy at school ?

h)  What is Manipur called ?

)  What did Sid tell Aunt Polly about Tom ?

J)  When did Manipur come under the British rule ?

2. What kind of atmosphere do Deep and Rupa experience

during their visit to the village ? 2

3. What are the healthy habits ? 3
4.  Write the boundaries of Manipur ? 3
(1) PTO.



10.

Write whether the following statements are true or false.
2% 8=4
a) Aunt Polly caught Tom’s trick.

b) Physical health remains incomplete without mental
health.

¢) Tom disliked Monday mornings.

d) Sugar has protein.

e) Tom was successful in avoiding school.

f)  Gandhi’s father often beat him.

g) India is a democratic country.

h) Tom was suffering a lot.

Write the meaning of the following words. 1x4=4

flame ; wrapt ; fragment ; perish’d

Where was Casabianca standing ? 1
What did Casabianca do when the ship caught fire ? 1
Explain with reference to the context. 4

“Such men as thou are England’s boast,
O miller of the Dee !”

Use the correct tense form of the verbs and rewrite the
sentences. 1x4=4

a) When he entered my room, I (read) a novel.
b) Rita died after she (suffer) for two years.
¢) They (know) each other for the last eight years.

d) The bus usually (arrive) here at 6 o’clock.

2) Contd.

17.

18.

19.

Write an application to your Principal praying him to grant
you leave for five days on account of your elder sister’s
marriage ceremony. 6

Write a paragraph on any one of the following topics. 8
a) A place you visited
b) Your favourite game

c) The prize day at your school

Read the following passage carefully and answer the
questions given below it.

There were two best friends—an ant and a grasshopper.
The grasshopper liked to relax the whole day and play his
guitar. The ant, however, would work hard all day. He would
collect food from all corners of the garden while the
grasshopper relaxed or played his guitar or slept. The
grasshopper would tell the ant to take a break every day but
the ant would refuse and continue his work. Soon, winter
came. The days and nights became cold and few creatures
went out. The grasshopper couldn’t find any food and was
hungry all the time. However, the ant had enough food for
him to survive through the winter without any worries at all.

Questions :

a) Who were the best friends ?
b) What did the grasshopper like ?
c¢) From where would the ant collect food ?

d) What would the grasshopper tell the ant ?

N = = =

e) What happened when winter came ?

f)  Find out from the passage the opposite word of ‘hot’.
1

(5) PTO.



14.

15.

16.

Choose the right determiner from those given in brackets and
rewrite the sentences. /2x6=3

a) She needs (little / few / many) advice from others as she
is expert in this field.

b) Sheis(a/an/the) M.A. of Gauhati University.
¢) There is not (much / many / little) milk in the pot.
d) Ido not want to buy (some / any / few) books.

e) The cat finished (little / a little / the little) milk in the
bowl.

f)  Anumbrella is — useful thing. (a/ an / the)

Fill in the blanks of the following sentences with appropriate
phrasal verb given in the box. (use the correct form of the
verb). 1x5=5

bring up ; look for ; call off ; giveup ; give away

a) The president — the prizes to the winners.

b) They have — the meeting for an unavoidable reason.
¢) She — the poor child.

d) The police is — the thief.

e) Tryto—— your bad habits.

Find out the principal clauses, subordinate clauses and co-
ordinate clauses from the following sentences. 1x3=3

a) Tell me where you live.
b) He is a teacher and his brother is a doctor.

¢) They returned when it was dark.

4) Contd.

I1.

12.

13.

Change the voice of the following. 1x4=4
a) He did the work.

b) Rubina is writing a letter.

¢) Ihave bought some books.

d) Who did this work ?

Change the form of narration of the following. 1x4=4
a) Rinku said, “I bought the book yesterday.”

b) Iasked Gita, “Can you ride a bicycle ?”

c) George said, “I do not know the girl.”

d) My grandmother said to me, “I will tell you an
interesting story.”

Choose the right preposition from those given in brackets
and rewrite the sentences. 2x8=4

a) She is proud — her beauty. (of / with / at)

b) The mangoes were divided — the children.
(between / among / with)

c) The teacher was angry — his behaviour. (at / with /on)
d) The worker died — overwork. (of / from / by)

e) She insisted — going to the excursion. (on / of / at)
f) My father came — March. (at / in / on)

g) I am senior — your sister. (than / to / from)

h)  She will go there — Monday. (on / at/ in)

3) PTO.
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Class : VIII
Subject : English (Dictation)

Total marks : 5

By this time the dental instruments were
ready. The old lady tied one end of the silk
thread firmly to Tom’s tooth, and tied the other
end to the bed post. Then she seized the chunk
of fire and suddenly thrust it almost into the
boy’s face. A moment later the tooth was
dangling by the bed post.

I was trembling as I handed the confession
to my father. He was then suffering from a fistula
and was confined to bed. His bed was a plain
wooden plank. I handed him the note and sat
opposite the plank.

* K Kk
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(The figures in the margin indicate full marks for the questions.)

SECTION : A

1. Answer the following questions in complete sentences.

a)
b)

©)

d)
e)

1x5=5
How old are Margie and Tommy ?

Who decided to improve the tonal quality of the pungi ?

Name the film director who was impressed by Bismillah
Khan’s music.

Who asked Evelyn’s parents to take her to a specialist ?

Where did Tommy find the printed book ?

2. Answer the following questions briefly. 2x5=10

a)
b)

¢)

d)

Why did Margie hate school ?

What characteristics did Abdul Kalam inherit from his
parents ?

Name the various places and causes for which Evelyn
performs.

What are the main features of the mechanical teachers
and the schoolrooms that Margie and Tommy have in
the story ?

On 15 August, 1947, Bismillah Khan played the shehnai
from the Red Fort. Why was the event historic ?
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Who were Abdul Kalam’s school friends ? What did they
later become ? 3

SECTION : B

Describe what the following phrases mean. 1+1=2

a) Bee loud glade

b) It was grassy and wanted wear
Answer the following questions in complete sentences.
1x5=5

a) Who is the poet of the poem ‘A Legend of the
Northland’?

b) How did Saint Peter punish the lady ?
c) What kind of place is Innisfree ?

d) What does the poet mean by the line—
“I hear it in the deep heart’s core.”

e) What do you mean by ‘linnet’?

“Two roads diverged in a wood, and I-

I took the one less travelled by,

And that has made all the difference.”

What does the poet mean by these lines ? 2

Give thyming words for each of the following. V2x2=1

lay ; core

Write the meaning of the following words. 1x2=2
provoke ; legend

2) Contd.

19. Write a story in about 200 words expanding the following

20.
21.

outline. Give a suitable title to it. 5

A fox saw a vineyard — wished to get some ripe grapes
—— grapes were hanging high——the fox could not pluck
them——he said “Grapes are sour.”

SECTION : G
Oral English. (already completed) 10
Project. (already completed) 10
* %k
()



16. Rearrange the following words and make each a meaningful
sentence. 1x3=3

a) me help to none have |
b) village in is our Shekhar man oldest the
¢) principal up as stood soon students as the arrived the

17. Rewrite the following sentences as directed in brackets.
1x6=6
a) He will stay here for a month. (ask a question to get this
answer using “How long”)

b) He wants this book. (ask a question to get this answer
using ‘What’)

¢) Her parents will go tomorrow, — ? (add a tag question)

d) She is a good singer, — ? (add a tag question)

e) Ranu attended the meeting. (make it interrogative)

f) The police caught the thief. (make it negative)

SECTION : F
18. Amplify any one of the following. 5
Rome was not built in a day.
Or
Morning shows the day.
Or
Translate the following sentences into English. 1x5=5

i) SPTTe SRR (IR 2|
i) AT T A e
iy (OSTERF WZF ANTS T2 G TAT A =it |
V) (€ QG FI A& ?
V) o SNER IR Were waiig A |

(6) Contd.

SECTION : C

9. Answer any one of the following questions.

a) Why does grandfather take Toto to Saharanpur and
how ? Why does the ticket collector insist on calling

Toto a dog ? 2+3=5
Or
b) How does Toto take a bath ? How does Toto almost
boil himself alive ? 1+4=5
SECTION : D

10. Read the following passage carefully and answer the

questions given below it.

Margie even wrote about it that night in her diary. On the
page headed 17 May 2157, she wrote, “Today Tommy found a

real book !”

It was a very old book. Margie’s grandfather once said that
when he was a little boy his grandfather told him that there was

a time when all stories were printed on paper.

They turned the pages, which were yellow and crinkly, and
it was awfully funny to read words that stood still instead of
moving the way they were supposed to— on a screen, you know.
And then when they turned back to the page before, it had the

same words on it that it had when they read it the first time.

“Gee”, said Tommy, “What a waste | When you’re through
with the book, you just throw it away, I guess. Our television
screen must have had a million books on it and it’s good for

plenty more. I wouldn’t throw it away.”

3) PTO.



Questions :
a) What did Margie write in her diary ?
b) What was awfully funny ?
c¢) Make a sentence using ‘throw away’.

d) What did Margie’s grandfather say once ?

N = =

11. Read the following passage carefully and answer the

questions given below it.

One day I was going towards my boat. It was about noon.
I got the surprise of my life when I saw the print of a man’s foot
on the shore. Yes, it was certainly a print of a naked foot. There
was no doubt about it. It was very plain to be seen on sand. I
stood like one thunder struck or as if I had seen a ghost. I
listened. I looked round me. I could hear nothing or see nothing.
I went upto a rising ground to look further. I went up the shore
and down the shore but I could see no other impression but that
one. I went to see again if there were any more and to observe
if it might not be my fancy but there was no room for mistake.
There it was exactly the very print of a man’s foot, toes, heel and
every part of a foot. Then I was so full of fear that I rushed back
to my tent for safety.

Questions :
a) Where was the writer going ? 1
b) What did he see on the shore ? 1
¢) What did he do to come to a conclusion that “there was
no room for mistake” ? 1
d) What did he do for safety ? 1
e) At what time did the writer get the ‘surprise of his life’?
1
4) Contd.

12.

13.

14.

15.

SECTION : E

Use the correct tense form of the verbs given in brackets and
rewrite the sentences. 1x5=5

a)
b)
¢)
d)
e)

The train (arrive) at 9 a.m. every day.

The bus (leave) the stoppage before I arrived.
When I saw him he (write).

I (know) him for a long time.

Three persons (kill) in the accident last night.

Change the voice of the following. 1x4=4

a)
b)
¢)
d)

Anybody can do this.
A letter was being written by Pinki.
The work has been done by Rita.

The teachers must be respected.

Choose the right preposition from those given in brackets
and rewrite the sentences. Vox4=2

a)
b)
c)
d)

Don’t be angry — me. (with / in / of)
What are you looking — ? (in / from / for)
This table is made — wood. (of / at / in)
She deals — clothes. (at / for / in)

Change the form of narration of the following. 1x5=5

a)
b)
c)
d)
e)

He said to me, “Where is your book ?”

The boy said, “I did the work yesterday.”

The teacher said to me, “Why are you late today ?”
The man said, “May God bless you.”

The girl said, “I must do my homework now.”

(5) PTO.
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d) Mention any three objects that can be inserted using the
INSERT tab in MS-Word 2010.

e) Briefly explain the different categories of computer
language.

Answer the following : (Any three) 4x3=12
a) Define the following terms—
i Formatting ii. Editing
. Highlighting iv. Alignment

b) What are margins ? What is default setting for the top,
bottom, left and right margins in Word 2010 ?

c) What is Normal view ? What are its different parts ?

d) Define slide Transition and slide Animation. Mention
two ways in which you can stop the slide show.

The computer teacher has to demonstrate the method to
create presentations to the students. 4

a) Name the presentation software she/he can use.

b) Mention any two features of presentation software
she/he can use to make the presentation interesting.

c) Can she/he add school logo as watermark in the first
slide ?

d) Which tab she/he will use to insert an image in the last
slide ?

* K Kk

Total no. of printed pages : 4 1102/19

Half Yearly Examination, 2019
Class : IX
Subject : Computer Science (Theory)

Time : 3 hours Total marks : 80

Fill in the blanks : 1 x4=4

a) Second-generation computers are based on
b)
c) The keyboard shortcut to select the entire document is

is called volatile memory.

d) is a text styling feature of MS-Word.
State True or False : 1 x4=4

a) A column is a vertical series of cells in a table.

b) Commands in the ribbon are divided into groups.

c¢) Themes group is available on clicking the Design tab.
d) Print option is available on clicking view tab.

Choose correct option : 1x4=4
a) Which tab on the ribbon has the Smart Art option ?
1 Insert i. Home
. Design iv. None of these

b) By default, this toolbar contains buttons for Save, Undo
and Redo commands.

1. Title i.. Quick Access
ii. Ribbon iv. None of these
c¢) —— refers to the position where data is placed within
the boundary of a cell.
1. Formatting i.. Editing
. Alignment iv. None of these
1 PTO.



d)

This — tool provides a list of synonyms.

1. Spelling i. Thesaurus

ii. Proofing iv. None of these
Answer the following questions in one word : ~ 1x10=10
a) Give one example of third generation computers.

b) Give one example of optical media.

c) What is the keyboard shortcut for the Thesaurus
option ?

d) What is the default position of footer ?

e) What is the default alignment of text in a cell ?

f)  What is called the faded image or text that can be used
as background for a slide ?

g) What is the name of the image or picture of the display
of our screen ?

h)  Which option is used to change the style and color and
add effects to the text ?

)  What is the name of pre-designed presentation that
includes custom formatting and designs ?

J)  Which feature is used to fill a range of cells with a series
of data without typing it ?

Write short notes : (Any three) 2x3=6

a) Orientation

b) Header and Footer

c) Application of Computer

d) Convergence of technology

2 Contd.

Answer the following questions : (Any twelve) 2x12=24

a) Mention any two characteristics of the third-generation
computers.

b) Mention any two categories of Smart Art graphics.

c) What is the use of the Format Painter option ? In which
tab it is located ?

d) What are the different types of alignments ?

e) Differentiate between footnotes and endnotes.

f)  Write any two advantages of spreadsheets.

g) Write the keyboard shortcuts for cut and paste
command.

h)  Write steps to apply border and shading to a table.

)  What is the use of the Slide Sorter view ?

j)  What is the difference between theme and template ?

k) Mention any two commands in the Slide show group to
run the presentation.

)  What is Specific-Purpose application software ? Give
one example.

m) Write steps to save a document in Word 2010.

n)  Write steps to insert pictures from file.

0) Can you run the slide show with the selected slide ?
Which option will you select for this purpose ?

Answer the following questions : (Any four) 3x4=12

a) What are the three steps of Mail-merge ?

b) Name the different types of data with example that can
be entered in an Excel Worksheet.

c) Briefly explain any three components of Power-Point

2010 interface.
3 PTO.
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supplies him with a good deal of energy that enables him
to work hard until the evening. By beginning so early, he
knows that he has plenty of time to do his work
thoroughly. He does not have to hurry over any part of
his work. He gets to sleep long before midnight. At that
time sleep is most refreshing. After a night’s sound rest,
he rises early next morning in good health ready for the
labour of a new day.

Questions :

a) What advantages does an early riser have over
others ? 1

b) Why should one take exercise in the morning and
begin one’s work so early ? 2

c) What are the uses of going to sleep long before

midnight ? 2

24. Project. (Already completed) 5

25. Oral. (Already completed). 5
* % k
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Total no. of printed pages : 8 1102/19

Half-yearly Examination, 2019
Class : X
Subject : English
Time : 3 hours Total marks : 100
(The figures in the margin indicate full marks for the questions.)

SECTION : A

1. A) Choose the meaning of the underlined words in the
following from the alternatives given in the brackets.

Vax2=1
) ... sat on the crest of a low .....
(top of a hill / middle of a hill / height)

i) The following Sunday at daybreak, he began to write
a letter .....
(noon / evening / dawn)

B) Choose the correct phrase / clause from the alternatives
to complete the given statements. 1x2=2

1) Great persons like Oliver Tambos, Walter Sisulus,
Chief Luthulis were produced as a result of :

a) oppression and hatred for the blacks
b) the effect of decades of opression and brutality

¢) freedom movement
i) The brave man is not he who does not feel afraid—
a) but he who conquers that fear
b) but he who does not care
¢) but he who hates fear

(1) PTO.



4.

C) State whether the following statements are true or false.

/2x2=1

a) The traditional dress of Coorgi people is known as
Kuppia.

b) The large freshwater fish abound in the river Kaveri
is river dolphin.

Answer each of the following questions in complete

sentences. 1x5=5

a) Who was Lencho ?

b) Who is the author of the prose piece ‘A Letter to God’?

¢) Who read the letter written by Lencho ?

d) Who accompanied Nelson Mandela on the day of the
inauguration ?

e) What is the greatest wealth of South Africa as mentioned
by Nelson Mandela in his autobiography ‘Long Walk to
Freedom’?

Give brief answers to the following questions. 2x4=8

a) What happened to Lencho’s fields ?

b) What did the postmaster do in order not to break
Lencho’s deep faith in God ?

c) What are the twin obligations as mentioned by
Mandela ?

d) Name the extreme sports that Coorg offers to tourists.

Where is Coorg ? What is the story about the Coorgi

people’s descent ? 1+2=3

2) Contd.

22. Write a letter to your friend telling him / her about your day-
to-day activities. 5

23. A. Read the following passage carefully and answer the

questions that follow.

“No one is born hating another person because of the
colour of his skin, or his background, or his religion.
People must learn to hate, and if they can learn to hate,
they can be taught to love, for love comes more naturally
to human heart than its opposite. Even in the grimmest
times in prison, when my comrades and I were pushed
to our limits, I would see a glimmer of humanity in one
of the guards, perhaps just for a second, but it was
enough to reassure me and keep me going. Man’s
goodness is a flame that can be hidden but never
extinguished.”

Questions :

a) Who is the speaker of the above passage ? 1

b) What is natural, to love or to hate ? 1
¢) What makes the speaker think that man’s goodness

can never be extinguished ? 2
d) Write the adjective form of the verb ‘hide’. 1

B. The great advantage of early rising is that one can start

one’s work long before others. The early riser has done
a large amount of hard work before other men have got
out of bed. Early in the morning the mind is fresh and no
sounds or noise disturb our attention. The work done at
that time is generally well done. Also one finds time to
take some exercise in the fresh morning air. Exercise

7) PTO.



SECTION : E

20. Translate into English. 1x5=5

21.

) ojfE gETR |

i) 2 9 siRewiE IEF |

i) RS CoLZGR TN 5 |

iv) SRS ETeGRI TR IR =i T 91 ThHo |
V) REAR TR & o wAic Sk g |

Write an essay on any one of the following topics. (150
words) 6

a) Health is Wealth.

(What the saying means—miseries brought by ill
health—how to preserve health—exercise, diet, good
habits—benefits of good health)

b) A School Function.

(The occasion—the arrangements—the description of
the different items in the function—the conclusion of the
function.)

Or

Write a story in about 150 words using the outline given
below. Add a title to it. 6

[A king of an island employed a workman and his son .....
did not allow them to go home ..... they were unhappy ......
the workman made wings with feathers ..... fixed them with
wax ..... both flew up ..... the father advised the son not to
fly too high ..... the son did not listen ..... wax melted ..... the
son was drowned ..... the man escaped.]

(6) Contd.

10.

11.

12.

SECTION : B

Choose from the box given below the words that rhyme with
the following, Vax4=2

cage ; stars ; street ; care

rare; straight ; cars; feet; shoes; rage

Choose the correct meaning of the italisized words from the
alternatives given in brackets. 1x2=2

a) Life in a tower is tranquil and rare ;
(boring / calm / joyful)
b) He should be snarling around houses

(making an angry sound / jumping / terrorizing)

What could Amanda do if she were a mermaid ? 1
What does the tiger in the jungle do ? 1
Where is the tiger kept in the zoo ? 1

Who wrote the poem ‘Amanda’? What does Amanda yearn
for ? 1+2=3

SECTION : C
How does Ausable manage to make Max believe that there
is a balcony attached to his room ? 5
Or
How is Ausable different from other secret agents ? 5

What was Horace Danby by profession ? What did Horace
Danby like to collect ? Why did he steal every year ?
1+143=5

3) PTO.



13.

14.

15.

Or

How did the young lady trick Horace Danby ? 5
SECTION : D

Fill in the blanks with the right determiners. ax4=2

a) —— rich are not always unkind.

b) Is there — coffee left ?

c) Please give me — time to finish the work.

d) Ramen comes home twice — month.

Fill in the blanks with appropriate preposition from those
given in brackets. V2x4=2

a) I have no pen to write —. (in / at / with)
b) He took leave — his friends. (from / of / with)
¢) They quarrelled — a petty matter. (over / for / of)

d) The doctor cured him — his illness. (from / of / over)

Rewrite the following sentences using the correct tense form
of the verbs given in brackets. 1x5=5

a) It is time children — (go) to bed.

b) The Principal is not in his room. He — (go) out.
c) Please ring me up as soon as he —. (come)

d) The boy — (sleep), don’t disturb him.

e) We should never — (tell) a lie.

4) Contd.

16.

17.

18.

19.

Change the voice of the following sentences. 1x4=4
a) We were surprised at his conduct.

b) Carelessness causes accidents.

c) We have discussed the matter thoroughly.

d) Rose is called the queen of flowers.

Change the form of narration of the following. 1x4=4
a) Priti said, “I do not know the boy.”

b) The young man said to me, “I came from Jorhat to work
in Guwahati.”

c) The Principal asked me what my name is.
d) They asked me if I liked to read books.

Choose the correct alternative from the choices given in
brackets and rewrite the sentences. 1x2=2

a) He — to accept the money. (refused / denied)

b) Her handwriting is — . (illegible / eligible)

Rewrite the sentences correctly. 1x5=5
a) He is working hardly.

b) Neither of them are to blame.

c) The iron is a useful metal.

d) Do not make noise.

e) [am feeling cold.

) PTO.
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a) x—-2P2+1=2x-3

b) x(x+1)+8=(x+2)(x—-2)

c) x2x +3)=x>+1

d x+2)y¥=x'-4

k 3 5 37 Q@ 2x2 — 3x + k = 0 AR @61 3 0 272
a) 1 b) 3

¢) 2 d) 0

O (PG MAFCR T x — 2y + 9 = 0 MR
ERTIE «B [re Fo150 F< 2

a) 2x -4y +9=0 b) 2x —4y + 18 =0

c) x+ty—-10=0 d) 7x—-14y+2=0

1
I sinA = — (SCF cosA I 3 T9—

2
3 V3
2 b Y3
) \s ) 2
NE N
9 3 =
0
2tan30
— 5. I W E—
I+tan” 30
a) sin 60° b) cos 60°
¢) tan 60° d) sin 30°
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1. A. Fillinthe blanks : 1x4=4
a) The — is a series of servers inter-connected
through hypertext.
b) The default value of caption-side property is —.

¢)

d)

The blank value of — attribute opens the linked
document in a new browser window or a new tab.

An XML document can only have one —
element.

B. Choose the correct answer : 1x4=4

a)

b)

Which of the following is a Web server ?
1)) Google chrome i) Apache

i) Opera iv) Web crawler

Which of the following properties is not used with
the <td> tag ?

1) text-align i) vertical-align
i) padding iv) empty-cells

Which of the following specifies the color of a link
when it is clicked ?

1) Active ) Visited

i) Hover iv) None of these

1 PTO.



d) Which of the following is a valid name for an XML
element ?
1) <XML document> i) <I2rollno>
i) <student name> iv) <student>

Write the correct or incorrect statement as asked :
1x2=2

a) Which of the following statements is true ?

1) In XML, white spaces in a document are not
truncated.

i) In XML, it is not necessary to close each tag.

b) Which of the following statements is false ?

) FTP helps a user to log into a remote computer
and function as if he/she were connected
directly to that computer.

i) FTP is the simplest way to exchange files
between computers on the Internet.

Answer in one word : 1x8=8

a)

b)

It is a part of an element that provides additional
information about the element.

It is a word, or group of words, or an image that is used
to jump to another document in the same website or
another.

It is the attribute of <img> tag that specifies the URL of
an image.

It is the default value of border-collapse property of
<table> tag.

It allows you to send the same e-mail to several people
at the same time.

2 Contd.

What is the use of the first line of code ?

Name the element that has an attribute in the above
code.

Name the root element in the code.
List the child elements of <address>.

How many elements are present in the above code ?

* %k Kk



Identify the error(s) in the following code and write the
correct code. 1x5=5

a) <h2><aid = “Top> <Laws of Motion> </h2>

b) <body>
<image src = “Penguine.jpg’™>
</body>
c) <style type = “text/css”>
table
{
border : 2px solid blue ;
empty—cells : hide ;
caption : bottom ;

§
<Jstyle>

d) <ahref=“myschool. html”>
<img url = “school.gif”> </a>

e) <frame src = “pagel. html”
height = 200 width = 200> </iframe>

Consider the XML document and answer the following
questions : 5
<7xml version = “1.0”?>
<customer name = “Any”>
<address>

<add1> 13 Mahabir Enclave,

Noonmati </add1>

<city> Guwahati </city>

<country> India </country>
</address>
</customer>

6 Contd.

2
h)

It is a type of Website, usually maintained by an
individual, with regular entries of news on a particular
subject, description of events, graphics, or videos.

It is the first web page of a website.

It is the unique address or location of a document on
the World Wide Web.

Answer any twelve of the following questions :  2x12=24

a)
b)

©)
d)

2

h)

Explain one Internet access method.
Explain two categories of e-banking.
What is the use of <th> tag ? Expand <td>.
Are the following XML documents well-formed or
not ? If not, give reason.
) <?xml version = “1.0”?>
<Student>
<name> Joseph </name>
<class> X </class>
</student>
i) <?xml version = “1.0"?>
<rollno> 15 </rollno>
<name> Ankita </name>
<total> 485 </total>

Differentiate between uploading and downloading files.
What are the two parts of an e-mail ? Give one example.

What are the various safety measures that should be
taken on social networking websites ?

Define ISP. What are the domain extensions of the
following ?
1) Educational institutions
i) Networking organizations
3 PTO.



)
k)

Answer any four of the following :

a)
b)

What do you mean by modulation and demodulation ?
What are netiquettes ? What are flames ?
Give two advantages of e-sites.

Can you insert an image in a table cell ? Name the
attribute of the <table> tag that is used to define
background color.

Which tag is used to define an inline frame in an
HTMLS5 document ? Is it a container element or an
empty element ?

What is the use of href attribute of <a>tag ? What is
the default visited link color ?

Define DTD. List two types of DTD.
What is an entity ? What are its two types ?

3x4=12
Explain working of TCP/IP.
Define: 1) Inbox

i) Spam

i) Attachment

What is the use of padding property ? Which HTML
tag uses this property ? What different values can be
assigned to empty-cells property ?

Explain any three attributes of <iframe> tag.
Mention three differences between HTML and XML.

What is XML parser ? Explain two types of XML
parser.

4 Contd.

5.

Answer any four of the following :

a)

b)

¢)

d)

e)

4x4=16
Draw the XML tree for the code given below :
<student>
<classx>
<Sname> Gita </Sname>
<Roll> 11 </Roll>
<sec> A </sec>
</classx>
<classix>
<Sname> Sita </Sname>
<Roll> 22 </Roll>
<sec> B </sec>
</classix>
</student>
What are the rules for defining a well-formed XML
document ?
Explain different kinds of hyperlinks. Can you turn an
image into a hyperlink ?
What is the use of embed tag in an HTMLS5 document ?
Mention the purpose of the following properties of
<audio> tag :
i) autoplay
i) loop
i) src
Write short notes on :
) Advantages of e-mail
i) Twitter
What is the term used for buying things on the Internet ?

Mention two advantages of buying things on the
Internet. Mention one limitation too.
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